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pre SH7 EEEVABFAERRNEREREER 25

Ty | ) | () ) [HRER EEHE 357 53 HRER
) | % () (km) oNss  |RIBAIR (km) EERTAR (km) No.7-7' HE |BKHE 5 ®
| EAH | HEE AN A - Fw| STBR | | $eEn| waewn anawn EEE 4| 478 biz| 1488 1R # i} & | rme | S0k RIREY B %
1064 v AT T 1.51 525 5 = 3 05 3 ® | 2
1064 ) AT B 5.30 $28 3 = 3 1.4 =1 3 =1 3
1064 12 |AT T 2.12 31 & = 0.6 3 " 3
1064 = [AT T 6 528 1 0.54]1 3 = 0.6 3 " 3 3
1064 F | AT T s21 4 4 3 8 = 1.0 3 " 3 3
1064 5 AT 5 itk | waknais 852 4 1.50 |4 = 12 9 3 1.2 =1 3 =1 2
1064 B[ AT = fafe | wume $52 4 4 & 14 29 = 1 3 " 3 2
1064 % AT 5 itk | wanais $51 1 1 = 20 40 1 3 ® 0.2 0.2 =1 3 =1 2
1 B AT 5 itk | waknais 852 = 12 36 3 =1 3 =1 2
1 5 [AT = fae | wume 549 & 6 8 = 1 = 1 0.1 0.1 ® = a3 1
1 ~ AT 5 itk | wanais 4 $50 4 4 = 14 15 3 ® 0.1 0.1 =1 3 =1 1
1 & [ AT B R | wakme 3 52 3 3 &= 2 22 " 2l i 2l 2
1 = AT 5 itk | waknais 8 $53 78 78 = 2 4 3 1 il A 2
1 h AT 5 itk | wanais 94 $53 94 94 = 1 35 3 1 =1 3 =1 2
1 2 AT 5 itk | wanais 61 852 61 61 1 = 2 3 3 0.2 1 =1 3 =1 2
1 Lo} AT 5 itk | waknais 13 852 13 13 1 = 2 1 3 0.2 1 =1 3 =1 2
1 [2) AT 5 itk | waknais 67 $53 10652 67 67 00 = 1 & 3 0. =1 3 =1 2
1 < AT 5 itk | wanais 91 $53 10652 91 91 00 = 2 2 3 0. =1 3 =1 2
66.49
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